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The figures in the margin indicate full marks
for_' the questions.

Q. No. 1 & Q. No. 2 carry 1 mark each 1x8 = 8
Q. No. 3 (a to j) carries 2 marks each S 2x10 = 20
Q. No. 4l(a to j) carries 3 marks each (any nine) | 3x9 = 27
Q. No. 5 -(a to d) carries 5 marks each (any three) 5x3 = 15
Total = 70
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1. Choose the correct answer from the four alternatives given below :

VE)

(a)

1x4=4

feat sty R Te Rl ©F T g Tfedr:
Which one of the following continents has the highest growth of
population? ' 1
O (T TS Sl 3R Ta il
(i) Asia '
«afoa
(i) Europe
T
(iit) Africa
RliEay

; (iv) South America

(b)

30T GEOG

were! SR

Which one of the following types of industries produces raw materials
for other industries ? 1

RCHIG T 2R AR ST S SieR AL (FOIAE SRAMA A 7

(i) Small scale industry
=y e Tl

(i) Basic industry
cifers e St

(iii) Cottage industry
o P TSl

(iv) Footloose industry

vers e Srmlet

[2]
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rank in the

;  Eingt
tates of India has the highes ;

(c) Which one of the following 57
Human Development Index !

. S ?
A 7 SR T R b

(i) Kerala
(@A

(ii) Gujarat
a1
(iii) Assam
A _
(iv) Bihar \
fama

(d) In which one of the following environments the presence of dispersed
rural settlements cannot be expected ? 1

IR (D! AR ReE Ay TS Al $Re E@RIR 2
(i)  Alluvial plains of Ganga

5NN CAGIFR AR FTgrl

(i) Arid and Semi-arid regions of Rajasthan
ATZAE ST G GEGE e

(iii) Lower valleys of the Himalayas

fEwtear A e wewes

(iv) Forests and hills of Northeast India
TEI-7[d SR G W% A S

30T GEOG . [3] Contd.

Scanned with CamScanner



2. Answer very briefly : _ 1x4=4
s FF e el ¢

() What is Trans-Siberian Railway ? 1
SrA-sREeE @i e
(b)) What do you understand by Populaﬁon Doubling Time ? 3 |

Tt faed s 3 & 3@ 2

() What is the present name of erstwhile 'Rajasthan Canal'? 1

ofa ‘ATz e TEAR A & 2

(d Which type of pollution causes acid rain ? 1
R @R ol «fEs g S I 2

3. Answer in brief : - 2x10=20
5y ©oq fua ¢
(1) How is human geography related to other social sciences ? 2

T SN RS S e R e wiee ?

(h) How do you calculate the density of population in a region ? 2

B R GERIR Y (W 217 T Tt ¢

(0 What do you understand by Co-operative Farming ? 2
s 3 e g ¢
(d What is Quaternary activity ? . 2
vods i€ & 2
30T GEOG [4]
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(¢) What do you understand by Traffic flow ? 2
AT ST e & g 2

(/) Why ports are called as the gateway of international trade ? 2

TAEARS SrEEies AT JU AreER 3 B cr

(99 What do you understand by a Healthy City 2 ' 2
A 791 3fEE B 3@ e

() What do you understand by personal communication system ? 2

Ffeste @eEE «wfs I & e 2

()  What are the importance of Mumbai Sea Port ? 2
TAIR FoE IMeq €3G 7z [ e

() What are the Physical and Economic factors affecting mining activity ?

2
YIS (FARR AFRET O Gafes T 2@ (o7 2

4. Answer the following questions in about 100 words each :
| (any nine) 3x9=27

TS il eiTza eiftor Tea 10051 *rma e i ¢ (Rerer 7o1)

(a) Write the importance of Tourism as a tertiary activity. 3
poins 3 Zone orfomm o3 A v
(b)  What is Satellite Communication and write briefly on the development
of this type of communication in India ? 3
ToAgZ @A AR & e SReade @3 @A EER Saeifer [am
v fene
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() What is urbanisation and mention fwo causes of urbanisation? 3
P B SR ARTR 70 I T F94A ?

(d) Classify the towns in India on the basis of population size. 3
SRR R fofee SrRed ARPHR (TierEH 4|

(e) Write a brief note on the Barak Valley of Assam. 3
SR A SAoer R @t 5 (Brat

() Write briefly on the importance of petroleum industry in Assam.

3
o o SrrR eRed fEm vyl

(g Write briefly on three main mineral regions of India. - 3
Srers AT T (iRl foRDr R S RE s

(h) Write a short note on rural and urban settlements of Assam. 3
wmmﬂﬁmwﬁﬁmmwmﬁmz

(i) Mention the characteristics of India's foreign trade. 3
SRR TR e ERREER S w4

(i) Write a short note on water transport of Assam. 3
SR T AR €o[aS @bl 59 (G fardl |

Answer the following questions : (any three) 5x3=15

wer o enrza ©ea i 8 (R fofon)

() Discuss the geographical and economic factors influencing the
distribution of populatiori, 5
e RS (SRR AR SeltAfes T TR SR AT 4|
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(b) Discuss the problems of Indian agriculture. 5

OO FRAVST FERE SIS 4 |

(c) Discuss the nature of water pollution in India. 5

SRR THEER &3S STl 41 |

(d) Draw an outline map of India and mark the following therein :
2+3=5

CIed AN (AR 94 T i Wik O O IR 3267

(i) A port of western coast

“if*o Tofge™ @Bl IR
(i) A coal mine
ot FFE A
(iif) A westward flowing river of South India.
Affpw et e Wil Sftet @a = |
x
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